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For Q.No.26 to Q.No.35. In this type of questions, you are provided with the first and last parts of a sentence.
The remaining sentence is broken into four parts labeled (P), (Q), (R) and (S). You are required to arrange
these parts so as to form a complete meaningful sentence and then choose the correct combination.

When you
P) which one is closest in meaning
Q) read the four sentences in your text book and decide
R) to the statement you have heard
S) hear a statement

(A) SRPQ (B) SQPR (C) SPQR (D) QPSR
) There is a fashion now-a-days

o -

as an evil

)
) wno is born with a silver spoon

9]

R) tobewail poverty

S) and to pity the youngman

6) in his mouth

(A) PSRQ (B) RPSQ (C) RSQP (D) SPRQ
1) Long, long, time ago

P) who lived with his virtuous wife

Q

) ina country called Chinchinchoo

o)

) there ruled a noble king
) and seven daughters

o w

pretty, graceful and well-versed in fine arts
(A) PSQR (B) QRPS (C) RPSQ (D) SQRP
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29.

30.

31.

32.

33.

34.

Alexander,

P)
Q)
R)

S)
A)

(
)
)
)
)
)

o W WO 1V 2

)
(A)

P)
Q)
R)
S)
(A)
1)
P)
Q)
R)
S)

6)
(A)

A)

(A)

was a disciple of Aristotle

who was a great conqueror

whom the world acknowledges as the greatest philosopher

the world has ever known
PQSR (B) QPRS

The department has initiated steps
from the corporate sector

to evolve appropriate schemes
and financial institutions for

for mobilising investment

the development of wastelands
PRSQ (B) QPSR

when a chemical substance

the food poisoning occurred

in the food preparations

was mistaken for salt and used
PSRQ (B) QPSR

According to reports

were still trapped inside

bogies

the wrecked

some of the passengers

of the express
PRQS (B) PSQR

One has no right in law
of atenant's room
to break open the lock
and take its possession
PQRS (B) PRQS
A number of measures
the financial conditions
for mobilisation of resou‘rces
in order to improve
are being taken by the State Governments

of the Municipal Corporations
PSQR (B) QRSP

(C) RPQS

(C) QSPR

(C)y RQPS

(C) RSQP

(C) PRSQ

(C) RSQP

D)

(D)

D)

(D)

SPQR

RPSQ

SRQP

SPRQ

SQRP

SQRP

LY
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

48.

49.

Work is the one thing

P) andwithoutit

Q) thatis necessary

R) tokeep the world going

S) we all should die

(A) QPSR (B) QRPS (C) RPQS (D) SRPQ
Pick up the correct synonyms for each of the following words. (Q.No. 36 to 38)
AFFLUENT

(A) Prosperous (B) Poor (C) Talkative (D) Close
DISTINGUISH

(A) Darken (B) Abolish (C) Differentiate (D) Confuse
ADVERSITY

(A) Crisis (B) Misfortune (C) Failure (D) Helplessness

Pick out the word that is most nearly the opposite in meaning of the word given in capitals. (Q.No. 39 to 40)
TURBULENT

(A) Turbid (B) Violent (C) Steady (D) Critical
CONFESS
(A) Deny (B) Refuse (C) Contest (D) Contend

In each question below, a phrase is given below which some alternatives are given. One of these is the most
appropriate word i.e. it best conveys the meaning of the phrase. Find out the most appropriate word in each
case. (Q.No. 41 to45)

Study of mankind
(A) Pathology (B) Physiology (C) Philology (D) Anthropology
Through which light cannot pass
(A) Dull (B) Dark (C) Obscure (D) Opaque
A person not sure of the existence of God
(A) Theist (B) Atheist (C) Agnostic (D) Cynic
A man with prejudiced views against religion
(A) Orthodox (B) Bigot (C) Fanatic (D) Profane
A woman whose husband is dead
(A) Virgin (B) Spinster (C) Wedlock (D) Widow

in each of the following questions, a sentence is given with a blank to be filled in with an appropriate word.
Four alternatives are suggested for each question. Choose the correct alternative. (Q.No. 46 to 50)

If a universal language really existed, people like tourists and businessmen would find it easier to
with foreigners.

(A) transact (B) communicate (C) deal (D) exchange
. Youneed shoes for walking in the hills.

{A) good (B) comfortable (C) satisfactory (D) sturdy

| hope you must have __ ____ by now that failures are the stepping stones to success.

(A) known (B) felt (C) decided (D) realised

The steam engine was by James Watt.

(A) discovered (B) manufactured (C) created (D) invented
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50. Ajaywas onh meeting his boss Yesterday only.
(A) keen (B) determined (C) sure (D) decided
51, SiqEgeA I g e s Sl
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(A) 35 (B) 30 (C) 25 (D) 20
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79. e wToft ErETErT T w0 9 AR ST e RIEToTd i) wreh Ty S 80 7. AT
mezooa@.a{ﬁﬁmﬁﬁﬁ?

(A) 20 (B) 30 (C) 50 (D) 60
80. grga :
J3+1 2” J3+1 2:,)
3-1 J3+1 '
(A) 15 B) 0 C) 14 D) 1

g1, Trde= ufed 10 SEHHE, Ui wUed 3.2 B!, 282 T 3E qul AT, AT 40
weehmed grare aued] et sremEl ¢
(A) 6.25 (B) 65 () 6.75 D) 7
go. @It GHIERTOTTE fohHd Shial.
1.2 1.240.8% 0.8+2.4% 0.8
(A) 2 (B) 4 ©) 3 D) 16
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Irg gaty e

8 6
5B
120

/A

24

(A) 12,20 (B) 15,20 (C) 30,20 (D) 20.25
84.?%@@%@@%%@@@@?%@%@@%%@%%.9@%#@1@@

T | (IT58) AN 11 (158

MOTOR 5 118 12 25

PASTE 1315 2015 18

LORRY 1215 1818 25

EARLY 161 1920 5

PASTE I STe2T=I Hehd VAT 7

(A) 5 118 12 25 (B) 1315201518
(C) 12151818 25 : D) 16 1 1920 5

g5 317 TSR A d B HE UE FE M. TS A Fict &ft B FTETEA UL TR qEsATAT U
ST STTER AT STV STEE AHE B

maaﬁa%ﬁm&aﬁmwﬁﬁwmmmm@ww@mmmsm
fopcft uef) @R ?
(A) 73T 9 (B) 3371703 (C) 53T 9 (D) IR TEHE TR
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87.

88.

89.

90.

91.
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93.

94.

95.
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(A) 22 (B) 34 (C) 20 (D) 21
217:262::715: 7
(A) 760 (B) 859 (©) 877 (D) 580
e WA WIe[d FHTeh 18 AT 30T %4 27 a1 3R, R 1 W4 foheft Wearg atmea ?
(A) 45 (B) 9 (©) 44 (D) 46
S 1 HATFIAT Yo A, T 1 Aot A,
(A) FTHIR (B) A3 (C) FHA (D) &R
G TRt el UTee T v ?
3,6, 18, 72, (wc...)
(A) 144 (B) 216 (C) 288 (D) 360
e Tomerean Svft shiord) dean Ase 7
31,37, 7,43, 47
(A) 38 (B) 39 (C) 41 (D) 40
SR 339 AB —>113 AB, U345 xy —> ¢ ,
(A) 511 xy (B) 151 yx (C) 115 xy (DY 115yx
TrATERT=T SR SRI0Td] Yee A 7
faemeff : 3@t ¢ 2 7 FIST (play ground)
(A) T (B) TAIG, c) Ufviger (D) HeH
S T qeae A I 4WWWWWW@WW SR @M |4 75
e 3 feafeett snfor wimen 125 o el sTode, @E AT seR I et
(A) 35 (B) 40 (C) 42 (D) 46
Ahg I @ Fig.1I ><} Fig.II Fig.IV
) Fig. | ) Fig. I (©) Fig. Il (D) Fig. IV
2 17 5
11 ? 13
7 19 3
(A) 15 (B) 23 () 25 (D) 33
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97. ammmmméﬁaﬁﬂzwﬁ% Fifor ey Fre SgrAT st fawae
ig?nwaaﬁtsqzsq aaﬁmngﬁsaa‘ﬁ mmﬁwm?
(A) 15 (C) 18 W

O 8aN
98. 534@@@1341%%61 T TUTTERR nwmm3§ gﬁ%’?
gw§§mﬁmmmm4/3aﬁwmaﬁr o211 STHTe 12@%
(A) 32468 (B) 62483 (C) 24683 (D) 34933
99. S C= 674 G = 14 IT0A, T T RN 4214 < 0 Tfedsh T IO B5ed 7
(A) AGA (B) GAB (C) AGB (D) BAG
100. SR %giaaﬁwﬁwm@ STSTE SRS, T EH 2014 ATt Hgardt afemara wpr foredt sraere
(A) 9T (B) Im@ ©) dF (D) AR
101. The hardest rock is
(A) marble (B) diamond (C) talc (D) quartz
102. A good quality stone absorbs water less than
(A) 5% (B) 10% (C) 15% (D) 20%
103. For one cubic metre of brick masonry number of bricks required is
(A) 400 (B) 425 (Cy 550 (D) 500
104. The portion of brick cut across its width and having its length equal to that of full brick is known as
(A) closer (B) queen closer (C) king closer (D) prince closer
105. Glazing of clay products is done
(A) toimprove their appearance (B) to protect them from atmospheric effect
(C) to protect them from corrosive action (D) allthe above
106. For construction of structures under water, the type of lime used is
(A) hydrauliclime (B) fatlime (C) quick lime (D) none of these
107. Lime mortar is generally made with
(A) quick lime (B) fatlime (C) hydrauliclime (D) plainlime
108. Good quality cement contains higher percentage of
(A) Tricalcium silicate (B) Dicalcium silicate
(C) Tricalcium aluminate (D) Tetracalcium alumino ferrite
109. To retard the initial setting time of cement, the compound responsible is
(A) Tricalcium silicate (B) Gypsum
(C) Dicalcium silicate (D) Tricalcium aluminate

110. Quick setting cement is produced by adding
(A) less amount of gypsum in very fine powdered form
(B) more amount of gypsum in very fine powdered form
(C) aluminum sulphate in very fine powdered form
(D) none of these

111. If Pis the percentage of water required for normal consistency, water to be added for determination of initial
setting time is

(A) 0.70P (B) 0.75P (C) 0.85P (D) 0.90P
112. Soundness of cement is tested by
(A) Vicat's apparatus (B) Le-Chatelier apparatus
(C) Compressive strength testing machine (D) None of these
113. With storage, strength of cement
(A) increases (B) decreases
(C) remains the same (D) none of these
114. Index number expressing the relative sizes of both coarse and fine aggregate is called
(A) proportioning of aggregates (B) fineness modulus
(C) grading of aggregates (D) none of these
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115.

116.

117.

118.

118.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

Bulking of sand is caused due to

(A) surface moisture {B} air voids

(C) clay contents (D) allthe above
Strength of concrete primarily depends upon

(A) quantity of water (B) quantity of aggregates

(C) quantity of cernent (D) water-cement ratio
Slump test for concrete is carried out to determine

(A} strength (B) durability {Cy workability (D) water-cement ratic
Seasoning of timber is essential to remove

(A) knots from timber (B) sap from timber

(C) twisted fibre from timber (Y roughness of timber

A piece of swan timber whose cross-sectional dimension exceeds 5 cm in one direction and 20 ¢m in other
direction is called a

(A) cant (B) deal (Cy bauik ‘ () strip
The most commonly used base for timber painting is

(A) redlead {B) zinc white {C} white lead (D) titanium white
The base material for distemper is

(A) chalk (B} lime (C) lime putty (D) cementwash
Mastic asphalt is

(A) water proof (B) fire proof (Cy elastic (D) alithe above
The foundation in which a cantilever beam is provided to join two footing is known as

(A) strip footing (B) strap footing

(C) combined footing (D) raftfooting

The foundation which consists of thick reinforced cement concrete slab covering whole area to support
neavy concentrated loads, is known as

{A) combined footing (B) strap footing

(C) raftfooting (D) none of these

The black cotior soil
(A) swells excessively when wet
(B) shrinks excessively wher dry
(C) hastendency of swe'ling and shrirxing due to clay particles
(D) allthe above

The type of bond in which every course contains both headers and stretchers is called

{A) English bond (B} Flemish bond {C) Russian bond (D) Mixedbond
A covering of concrete placed on exposed top of an external wall is known as

(A) cornice (B) coping (C) trieze (D) lintel
A projecting piece usually provided to support a truss is

(A} comice (B} coping (C) frieze (DY lintel
The exterior angle between outer faces of wall, is called

(A) turn (B) junction {CY quion {0} al'the above
The vertical member of a shutter frame is known as

(A) style (B) reveal (Cy mullion (D) post
A wooden bicck hinged on post cuiside a door. 15 known as

(A) cleat (B) stop (CY hom (D) none of these
The platform at the end of series of steps, is knowrn as

(A) platform (B} relief (G orest (D} landing

A roof which slopes in four directions is called
(A) shedroof (B) gable end roof {C} hipped root (I gambrelroot
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. The process of making the background rough, before plastering is

{A) dubbing (B) hacking (C) blistering (D) peeling
i35 The main principle of surveying is to work
{A) from parttowhole (B) from whole to the part
(C) from higher level to the lower level (D) from lower level to the higher level
i38. Tre angle between two plane mirrors of optical square is
(A} 20° (B) 30° (C) 45° (D) 60°
<27 Theimaginary line passing through the intersection of cross hairs and the optical centre of the objective is known as
‘2) line of sight (B) line of collimation
iy axis of the telescope (D) none of these
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139.

140,

141.

142.

143.

Ihe pack staff reading on B.M of R.L 500.000 m is 2.685 m. If foresight reading on a point is 1.345 m, the
reduced level of the point is

(A) 502.685m (B) 501.345m (C) 501.340m (D) 504.03Cm
if the whole circle bearing of a line is 270°, its reduced bearing is
(A) NOO°W (B) S90°W (C) W90° (D) 90°W
The Trapezoidal rule of volume V of an embankment divided into a number of sections equidistant D, is given by
(A) V= D[—é\l;A”wLAz +Ag F o +An_1}
®) V= %{AA*" An LAy 4 Ag ot AM}

(©) V:g[A1+An+2(A2 +ALF +An 1)+ HAg +Ag .ot Ap o)

) V:%[A1-+An+4(A2+A4+ ....... + A1)+ HA3 +As ...+ Ano)]

Planimeter is used for measuring
{#} volume (B) area (C) contour gradient (D) slope

Iff, and {, are the distances from the optical centre of a convex lens of focal length f to conjugate two points
P. and P, respectively, the following relationship holds good

; 1 LI

(2 fe 141, (B) f:—§(f1 +15) © 3 f +g (D) none of these
The resultant of two forces P and Q acting at an angle 0, is

(A) P%+Q% +2Psing (B) P2+Q? +2PQcos 6

©) P?+02+2PQtan® (D) P2+ Q2 +2PQ cos 6

If two forces of 3 kg and 4 kg act at right angles to each other their resultant force will be equal to

1
(A) 7 kg (B) 1kg (C) 5kg (D) :/-kg

. Avehicle weighing W kg is to run on a circular curve of radius r. If the height of its centre of gravity above the

road ievel is h and the distance between the centres of wheels is 2a, the maximum velocity. in order to avoid
overturning will be

' — _ —
92 dra yga ga
oy ®) © 3/ . © 5
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146. The maximum deflection of simply supported beam of length L with a central load W, is

" w2 ® WaL © w3 WL2
48E] 48E] 8E]

147. The bending moment diagram of the beam shown in Fig below, is

M~ A
r B
Te L 4
(A) arectangle (B) atriangle (C) atrapezium (D) aparabola

148. For the beam shown in Fig below the maximum positive bending moment is nearly equal to negative bending
moment when L, is equal to

WWMW

I4~—L1——~A————L M—>[IX<—L1 -~

(A) 1.0L (B) 0.7L (C) 0.5L (D) 0.35L
149. The ratio of static friction to dynamic friction is always
(A) equalto one (B) lessthan one (C) greaterthan one (D) none of these
150. In a grain size analysis of soil, the grain size values and the corresponding percentage finer obtained are
given below
Grain size mm 4.75 2.0 1.0 0.50 0.15 0.075 | 0.053
Percent finer 100 82 60 44 22 10 5

The uniformity coefficient of the soil is :
(A) 6.66 (B) 13.33 (C) 33.33 (D) none of these
151, The correct hook for mild steel reinforcement bars according to specifications is
(d = diameter of bar)

—> 1d e —» 5d |je—
(A) ( 48 (B) 5d
y ¥

—» 6d  e— —» 7d ¢

152. The minimum force required to slide a body of weight w on a rough horizontal plane is
(A) wsin 0 (B) wcos O (C) wtan 0 (D) nore of these
153. The velocity of a body on reaching the ground from a height ‘b’ is

(A) 24/gh B) \gh (C) +2gh (D) 2gvh

154. The range of a projectile is maximum, when angle of projection is
(A) 30° (B) 45° (C) 60° (D) 90
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158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

14- M

. The range of projectile will be maximum for a given velocity of projectile when the angle of projection (0() is :

(A) B2 (B) 30° + (/2 (C) 45°+ B/2 (D) 60° + B/2
. The body will fioat if the force of buoyancyis _______ the weight of the liquid displaced.
(A) equalto (B) lessthan (C) more than (DY A, B, Call
. Ratio of total volume of water delivered to a crop to area on which it has been spread is called
{(A) duty (B) delta (C) critical depth (D) rone of above
The elementary profile ofdamis
(A) Aright angled triangie (B) Atrapezoidal
(C) Arectangle (D) None of above
The major resisting force in gravity dam is
(A) Uplift pressure (B) Self-weight (C) Waterpressure (DY Wave pressure
The amount of precipitation is measured by
(A) Raingauge (B8) Osmoscope (C) Turbidity Meter (D) All of the above
Runoff is measured in
(A) m3/s (B) m3min (Cy md/hr (D) MNone of these

Which one of the following is not required in concrete mix-design ?
(A) Degree of quality control of concrete
(B) Workability of concrete
%C; Characteristic compressive strength of concrete at 28 days
D) Initial setting time of cement

Consider the following statements :

1. Rise in temperature causes change in colour of cement-concrete

2. Curing minimises the shrinkage of cement concrete when it sets

3. Shape of coarse aggregate influence the workability of cement concrete

Which of these statement is/are correct ?

(A) 1only (B) 1and3only (C) 2and 3 only (D) 3only

Consider the following statements :

Admixtures are added to concrete to
1. Increase its strength
2. Reduce heat of hydration
3. Delay the setting of cement

Which of these statements is / are correct ?
(A) 1only (B) Both1and3 (C) Both2and3 (DY 3only

Consider the following statements :

1. Setting and hardening of cement takes place after the addition of water

2. Water causes hydration and hydrolysis of the constituent compounds of cement which act as binders
Which of these statements is / are correct ?
(A) 1only (B) 2only {C) Bothtand2 (D) Neither1nor2

Which one of the following is the correct range of fineness modulus of medium sand usable in preparing
cement mortar ?
{A) 1.5t02.2 (B) 26t02.9 {C) 291t03.2 (D) 55t06.5

Consider the following statements :
1. Strength of concrete cube is inversely proportional to water-cement ratio
2. Shrinkage cracks on concrete surface are due to excess water in mix
Which of these statements is / are correct ?
(A) Both1and2 (B) 1only (C) 2only (D) Neither1nor?2

Entrainment of air in concrete is done so as tc

gAg increase the workability

B) increase the strength

(C) increase the resistance to freezing and thawing

(D) increase both, the workability and the resistance to freezing and thawing

Which one of the following is employed to determine strength of hardened existing concrete structure ?
(A) Buliet test (B) Kelly ball test
(C) Rebound hammer test (D) Cone penetrometer
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170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

Ultimate strength of concrete is influenced by which one of the following ?
(A) Tricalcium silicate (B) Dicalcium silicate
(C) Tricalcium aluminate (D) Tetracalcium alumino-ferrite

What is the percentage of the fine aggregate of fineness modulus 2.6 to be combined with coarse aggregate
of fineness modulus 6.8 for obtaining combined aggregate of fineness modulus 5.4 ?
(A) 30% (B) 40% (C) 50% (D) 60%

The use of superplasticizers as admixture

(A) permits lower water-cement ratio thereby improving the strength
(B) reduces the setting time of concrete

(C) decreases compressive strength of concrete

(D) permits lower water-cement ratio and reduces setting time

Which factors influence the workability of concrete without sacrificing strength ?
(A) fine aggregate percentage enhancement

(B) increasing quantity of water

(C) increasing maximum size of coarse aggregate and water content

(D) shape of coarse aggregate and its maximum size

The soil having particle sizes in the range of 0.075 mm to 4.75 mm is called is
(A) Gravel (B) Sand (C) silt (D) Clay

Void ratio for the soil is ratio of

(A) Volume of soil to the volume of voids

(B) Volume of voids to the volume of water

(C) Volume of voids to the volume of soil solids
(D) None of the above

For determination of water content which one of the following method is not used ?

(A) Sand bath method (B) Oven drying method
(C) Pycnometer method (D) Casegrande's method
Uniformity coefficient (Cu) is given by
Dy Deo Deo
(A) Cu= D (B) Cu= D (C) Cu= D (D) None of the above
10 30 10
The topmost seepage line in earthen dam is called as
(A) Stream line (B) Equipotential line
(C) Phreaticline (D) None of the above
The drop height of hammer in standard proctor test is
(A) 305 mm (B) 270 mm (C) 180 mm (D) none of the above
The test carried out for determination of bearing capacity of soil is
(A) Direct shear test (B) Plate load test
(C) Modified proctor test (D) None of the above
Soil stabilization methods are used
(A) Toincrease bearing capacity of soil (B) To reduce chances of failure of structure
(C) Toenhance properties of soil (D) All of the above

The necessary condition for flow to be uniform is that

(A) The velocity is constant at a point

(B) The velocity is constant in the flow field with respect to space
(C) The velocity changes at a point with respect to time

(D) None of the above

The flow in pipe is laminar if
(A) Reynold Number = 2500 (B) Reynold Number = 4000
(C) Reynold Number is more than 2500 (D) None of the above
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184. Bernoulli's theorem deals with the law of conservation of

(A) Mass (B) Momentum (C) Energy (D) None of the above
185. The moisture content of timber used in building frames can be

(A) 2% to 5% (B) 8% 1t012% (C) 12%t0 18% (D) greaterthan 20%
186. The inlet length of venturimeter is

(Ay Equal to the outlet length (B) More than outlet length

(C) Lessthan outlet iength (D) None of the above

187. Principle of "Circulation" inside the building means

(A) ltis the space for movement of occupant to reach from one room to the another in the form of
passage, verandah, lobbies, corridors, stairs, lifts etc.

(B) ltis the circulation of air inside the building

(C) ltis the feeling of larger space than what actually available

(D) ltis the direction through which wind is received

(

(B

(

(

188. What is the definition of F.S.1. ?
A) lItis the ratio of Total Built-up area for the building to the total plot area.
) Itis the ratio of total plot area to the plinth area of the building.
C) ltis the ratio of plinth area to the total built up area of the building.
D) Itis the ratio of plinth area to the total piot area.

189. Which one of the following statement is correct as regards tensile strength of wood ?
(A) minimum in the direction parallel to the grains
(B) maximum in the direction parallel to the grains
(C) maximum in the direction across the grains
(D) same in all directions
190. The broad gaugeis _ wide.

(A) 0.6096 m (B) 0.762m (C) 1.00m (D) 1.676m

191. The horizontal tunnels constructed at shallow depths along the banks of river to intercept the groundwater
table is called

(A) canal (B) infiltration (C) springs (D) lakes
192. The water obtained from tubewells is known as

(A) Surface water (B) Sub-surface water

(C) Run-off (D) Potable water
193. The water of river has an important property calied

(A) turbidity , (B) self purification (C) permeability (D) infiltration capacity
194, Turbidity of water is expressed in terms of

{A) silica scale (B) platinum cobalt scale

{C) PO value (D) none of these

195. Which of the following statement is correct ?
(A} M the pH value of water is equal to 7 the water is said to be neutral
(B) The pH value determines the strength of acid or alkali in water
(C) The pH value of water can be obtained by potentiometer
(D) All of above

196. Bio-chemical oxygen demand (B.O.D) of safe drinking water must be

(A) 0 (B) 10 (C) 50 (D) 100
197. Bleaching powderis '
(A) slaked lime (B) chloride of lime
(C) hypochloride of ime (D) hypochlorite of lime
198. The water from kitchens, bathrooms, wash basins is called
(A) Sewage (B) Sullage (C) Raw sewage (D) None of these

199. The self cleaning velocity, recommended for Indian conditions in order to prevent settling down of sewage at
the bottom or on the sides of large Sewer is

(A) 0.25m/s (B) 0.50 m/s (C) 0.75m/s (Dy 1.5 m/s
200. The minimum dissolved oxygen required in water to save the aqualic life is
(A) 1 PPM (B) 2 PPM (C) 4 PPM (D) 8 PPM
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